CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

1.

10.

1.

"SIl HiEar' gt 9-

A) FI fgror EReroT & (B) Hiw ERaor

(C) fasig sfa & (D) ame wRaor & [D]
qu i o wEE fi gt § JeeyE & 2011 F
IS A 87

(A) 8 af e (B) 244t &H
(C) 27 @i sm (D) 12 af&e [A]
%u’qmgﬁm%— _
(A) Temm | (B) Tar T H
(C) srnfdaiRenk & (D) TRt & [c]

TS &1 I@ & fhaas Aqea d grarfea gsm an
[ 3

(A) &ft, &ft. emer

(C) oft. TH. AU
101 =1 9% 8-
(A) 1050501

(B) dt. g7, M=
(D) w=. &Y. aiesferar [D]

(B) 1020201

(C) 1030301 (D) 1040401 [c]
1857 & a1 UTH H FHIT HERT™ H Fgraanr &
forg R Trea 3 @fRes ggraar A< ?

(A) Freft (B) SR

(C) SitergR (D) [A]
aﬁmﬁ@ﬂﬂﬂmmu&ﬁ | eh ! Uk Fat
(A) gftim o€ (B) agsiit

(C) fermfther (D) ER [B]

af g araqey g &1 maad 16 =i aur =g 12

Ht &1 36 YR T AT &-

(A) = (B).4 . .

(C) 2 =t D)1+t [B]
aRE g verd @ A Feran &, Bl st Reat
malwmmﬁmmm%? '

(A) fasm= (B) siteriian

(C) sra=a= (D) arfisor [A]
forer Hiten-ehett & Traf-9d &2 N

(A) FE=tomT (B)deant

(C)ws (D) qmmam . [A]

foreft awg () & .sle, snamh a i afefra e

A B I/ . aﬁwtmﬂﬁaﬁmtﬂ

T@T ST HehelT 8-

(A) a1 &t Srade ar add. (B) » A

(C) sraas (D)ma [B]

i wrfefa i awer dard

2023 ¥ et At gt gt m
iﬂal

wit fismant | sfw#t | TP
|EweA | wetoria (S

15@3?12023 @10 AM-2PM

FrERI RS A A TS
o B ) e B Wm Wm
R A

oy s Offline/Live From Classroom FE 4515 W2adl & Wia

12.

13.

14,

15.
16.

17.

18

19.

20,

21.

22,

gewr ygar uTRa Ay 1 wa g1 duge a9

ST 3BT 8-
(A) Tt | (B) sirerer
(C) ahrefte & (D) garett & [A]

Choose the most appropriate technical
translation of the following word:

Circular
(A) AfeH (B) uRux
(C) gz (D) ufRermr (8]

T AER Y sTEET 1 &S ¢ afg e o= fagga
&) T 85 gIR &, 99 o7 & 8-

(A) 0.085 (B) 0.85
(C) 85 (D) 8.5 [D]
HIZshIaTge faera A=Y &1 v ;

(A) &i15E @l geM & g
(B) € a1 wireA & forg
(C) Wet Teh et o forg
(D) ferrT 3né forerad Sited & forg [D]
afd g FHe wrar # CREW @t 96 forar omar & aur
COURT &t 154 for@r sirar g, af 3t wmar & CRATE

@t fFa weanrR A smeen ?

(A) 98 (B) 47

(C) 90 (D) 94 [*]
Remdw svedio e Zrr wRa &1 vy o=@
Hise Al qreh o iR frar smerm
(A) ST (B) siTat

(C) Ffem (D) afemTg [D]
IAGTEYT [olfeh a7 AT & oreOed U1 e &t

SrdeTel & FEIe & & R ZR1 gern ST |ahar
£?

(A) e st g
(C) wrgafd grT

(B) Trsgurer g
(D) farems g gmi [c]

IR Y GHER Ut § [T ST IR 3T 82
(A) sroie o= HHi & forg Sirdfea fafde gam|

(B) et Tt SR TRt Y ST HE & St o TH o

e orezer B S & SR Y v e

(C) ae St gHY ST WS &HTeT G gial ¢ |
(D) foreft faduer o =i & &f ==on & = etu=le
Tt & g SmEifea awg [B]

S -ger WOt & Fqe, U 9 anSeye uget & gt

g A @, 98 HUTTA! hgere! 8-

(A) FzareTes (B) aftu

(C) Tt (D) weifad [A]

f=fef@a § @ &9 a1 Jomgn Sia daifdr o

murfaer &=’ sgeran g ?

(A) e Gotmes (e gorrs)

(B) SIgAY wrgitst

(C) uiefmer

(D) grsgictd [A]

AT & AIESTeh IJUHH R &1 i AT A T8l

&

(A) T & gt IrdeiEe &5 & IusAl & oy =

Uord e 8g THRite g et Far s

(B) roreurs # fAsh 3usmnl ot Ran-fAder 2

(C) aeft ard=ifes &5 & Iusrnl & wraf &Y ARE &

(D) wr=a & fafd== Iushat Y vt § o=y wAT
[c]
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CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

23.

26.

£7.

28.

29,

30.

31.

32

33.

34.

35.

36.

AT & AU Ay 4-

(A) ga. St SR (B) =gt gan

(C) .y, FF (D) .qH. fag, [B]
TS gl el fead g2

(A) 3reTeR (B) 3R

(C) SR (D) Arde 317 [D]

‘B o Ae R 8-

(A) waTwTe SR FrEETST & o

(B) Sraret 3R FHererTe F &g

(C) sraTeT 3R TRUR & &t

(D) RriteTTe 3R warwe & = [A]
A=faf@a ser soft § apren sraR &= @1 AT

afRg?
KIJM,I,N,H,O,G,F‘,D
(A) F (B)Q
(C)R " (D) E — [A]
Qeh THang et 1 &t 253 ? ¢, @« gHaT
ufama 8-

(B) 30 &

(A) 60 et
(C) 50 4t (D) 504 = 3@+ [B]

& 919 hT I AN | Y =t Rt
&9 & fArg fRear mam

(A) A (B) faci@ i,

(C) A= T (D) wiferes st [c]
gt ufthrn fAad sEle smws &t uig sifeass
Fee & forg arg At Hifea sufeata & gear & T
foran gan &, wgerdt & -

(A) e (B) st

(C) sra=mm= (D) framm= [D]
faur ufReg & el @1 g fohan e & -

(1) ueger g1a @ (I1) smreaer TG &

(I1I) 9™ &

(A) (1) sfiz (111) (B) (1) aﬂz(n

(C) (1), (11) 3f (I11) (D) (1) 3R (1) [D]
Fr=riftra gaif § @ ot o1 gar aoeyE danifg & g
331 i 8?7

(A) &R (B) T ]

(C) entereT (D) mmerR ' [D]
ﬁqqq 3R 3R, T4, U. & AUher HU] A SR g-

(A) 2-C W Argeio dit suffy

(B) 2-C U 3iTerRftST o1 3rdTe

(C) 3-C wR 3HTerfrer &Y Iuf@fa

(D) 3-C WR AT T 9T [B]
PFeadds-ardRTH A gENa g ?

(A) STgEm (B) farceht

(C) v R (D) TmaT [A]

Smgmfaﬁanaﬂ'aa?%lmeﬂqquﬂaﬁm
sftea w87

(A) 10 (B)7

(C)8 (D)9 [D]
aATo[EE ATYWOT__ F g1 oI 8-

(A) R (B) BTt

(C) e (D) eet [c]
RIS AT T AGS HIF 82

(A) uTBtS Wg (B) Sfrarer

(C) srrefte Wig (D) TeTfT W [A]

37.

38.

39.

41.

42,

43,

47.

48.

49.

50.

Feafaf@a 4 4 Fe &9 9§ sgre Sash 9

ufreror sraresft Pafomref 22
(A) TR (B) st
(C) == (D) Hiez [D]

AFuTB R Af@F s A 43 FTaquea gl e A &
e 600 FuTar g1 A 39 R fRd =g &
AU 3 : 2 g, 7t B &t "rfdes sma ghft -

(A) 3,600 (B) 2,400

(C) z2,000 (D) #1,800 D]
azard qrar frge af=R dearsT (aigarer) § e &,
I fohe R s & oft ST STrar 87

(A) 3mast grar (B) TeTereHt

(C) mgrenreht (D) Fge gl [D]
SR SR &1 U 7 &I |1 8?2

(A) Fupet (B) sifedt

(C) vRa=Tens (D) wueh [D]

1857 & Azl & wwy fimsht aror & fFe waq
(Tm=) A ewoy & of1?

(A) 579 & 1E 78 (B) &aiftie

(C) st (D) ursiiaféig [c]
GFaAafk 0 F 1M TR RIA T @A & U152
£ 11 & 10 99 &t R A dgen @1 39T o1y ufdga F

Fare?

(A) 21% (B) 9%

(C) 10% (D)11% [A]
AT o foieil & & fhad o rocusiia &2

(A) 13 (B) 10

(C) 11 (D) 12 [c]
frafta samn aret off & o2 =t @gd &

(A) dferer ._(B) oGS

(C) s uresa (D) fersergmest [D]

7-8 sagar 2022 &t e oreX #/'gEwe oY
i @ gt fAaan a2,

(A) ter (B) Sitergz

(C) e R (D) SR [D]
Rwraad-dad qaffies St a1 3-

(A) e et (B) wefre

(C) el (D) 5 gsa [B]

Choose the correct antonym of the following
word from the options given below:
Encourage

(A) persuade (B) aid

(C) discourage (D) incite [c]
YR A5YA # 'g12' & A1 | HIF-H1 A1 AT 82
(A) FEera o @i

(B) rafers

(C) FsThTR STefeht &0 H el

(D) Iega dfe= [c]
TS GAITET HTANT & et @i 42

(A) dt. et (B) go. =&

(C) &. uriteme (D) wotet et [D]
af& logy x = 1/6, aa X SR &

(A) 27 (B) V3

(€3 (D)9 (8]
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CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

51,

52.

a3,

- >

56.

57.

58.

59.

60.

61.

62.

63.

65.

Choose the correct option.

Tenders should be written in a language that
is -

(A) brief and to the point

(B) roundabout a lengthy

(C) informal

(D) stylish [A]
16 @4t 7 12 |t yerrait ar Rt omrga & ofRa: o
g i T @1 g T SAthe T 87

(A) 192 @ 2 (B) 967 mt @+t 2

(C) 100 rt A+t 2 (D) 152 Tt It 2 [c]
Ty | e fafehe el el e 82

(A) SR (B) Htemaret

(C) sragz (D) == [D]
%« (Remainder) 919 31 & AT o9 oo v«
H 9 9T HeE AT A A4 &7

(A) FACT( ) (B) DIV( )

(C) MOD( ) (D) INT( ) [c]

A= | @ = a1 TereuE & sresvisfia AR 82

(A) 23° 30" zfeYor gd 30° 12" &fgor

(B) 23°03' 3<% Qe 30° 12" IR

(C) 23°03' IR wd 30° 12" =fayor

(D) 23° 30" 39X Ug 30° 21" IR [B]
16 g%, 2022 &t gEA M0 Hetew TEea 3 S
iR smaeek fRAfY RygRerea fit snurier waf
i?

(A) Rrzrre # (B) sreer # _
(C) ez (D) & A [0}
"geuaTaS e & :

(A) wTE (B) ﬁﬂm

(@k-c) (D) =t [A]

mmmmﬁsmmmmnﬁawa
(A) =fires uRar &t dsfehat @ afgemd
(B) ®TéET TRAISH

(C) Beury faghar

(D) Afger @Rt [A]
2024 & drHeRleld Hifcilch Sell i ﬂm‘-ﬁ oc
HAT?

(A) TR (B) Erart _
(C) uf=m (D) ATert [€]
fPrafaf@a d | &9 a1 wra &1 uuw A &8s ZrRr
Rresfira ke 22

A) dToagerdt- Sft (B) rosgerdt- gaRTger

(C) fersnia - g& (D) ferspm - ¢@ [D]
forfdam Fafe ™ FA wEard -

(A) Li, C 3R CO; (B) Li;0 3k CO;

(C) Lio 3R CO, (D) Li 3R CO; [B]

' ATYTEHIS' e & e ues 9ol aremair &

(A) sITera=T & g (B) R AR e
C)axis ghm arenn (D) &ursR # 7E g+ arenn [B]
gHeas ankElRfa gs........ AT )

(A) Gadra (B) wuferfaa

(C) arfgEady (D) Sfarfras [B]
"HIE e AR AE vae' R wae 6 e 82
(A) == (B) smerT

(C) war (D) wrerpr [D]

Translate the following sentence into Hindi:

66.

67.

68.

69.

70.

.

78

13

74,

A

76.

71.

Women learn English faster than men.

(A) gt &l Aigesi & uge sl dra-t gyl

(B) q&w 3fidl & Sies! STt Hied &

(C) 3MRd g & SR STeal Sl FiRadi &1

(D) ofet Y st 3 epraet Siedt Sfht Tt TRy
[c]

TGN & §OR JTEH (396) R Ao f R (W)

wgerd! 8-

(A) Treaa & G EIEE

(C)fee e (D) At = [c]
o g gt e & fRAdgor F gesier &1 &9 Gr
a1 Aftreraw fAafea g &2

(A) wrer (B) St

(C) e (D) & [B]
gﬁmﬁm 7 @ sl &t srg agH wireik F ard ot
(i) Ast (ii) DTz

(iii) IS (iv) 91T

(A) (i) & (iv) (B) (i) = (ii)

(C) (ii) = (iii) (D) (iii) @ (iv) [c]
fRamgw zwr e o sgam dhdly. &t JueEy
&RA | T UG g g

(A) a7 (cycle)  (B) Berufte

(C) eifer WS (D) Qe erzn [D]
A fAg-gftear 2022 afegifar § fefef@a g @
I AT AT thee TR 3T 61?7

(A) wse1 J@mEd (B) wrfAerr g

(C) nfaeht &= (D) foet 21t [A]
ThTSht & S99 T ..., 8?

(A) ATeaT [B)aﬁq

(C) =T (D) gexar [D]
fRrenfeer o & _saEia ARl Zzrr forft i
ehepdicit Tehdl Ugt STt SITe @-

(A) & (B) TR

(C) 7vrs (D) iR [B]

Choose the correct alternative which can be
substituted for the given sentence:

The period of life in which a person is old and
weak '

(A) Superannuation (B) Dotage

(C) Impecility (D) Senility [B]
v« 3 @TaT g1 91 A ferar &-

(A) Areg forar (B) aransien feran

(C) e fopar (D) gdepticres forar [c]

ATEAT H IR-AR AT Gd G T 3T H1R0T &2
(A) arfrafia auf

(B) &t &t &herd

(C) 5t a1 Sifaderyguf Suat

(D) ¥f# &1 Fera [A]
w0 & Siefa geEad...... R @1 AR wer R
AT 8?2

(A) 150 (B) 100

(C) 120 (D) 130 [B]
wrRa & fha wwa 7 68t Agw ih ate (Ftewr) W™
araifora i nd A2
(A) arreer o

(C) e (D) wfes [c]
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CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

78.

79.

80.

81.

82.

83.

85.

86.

87.

88.

Choose the correct preposition.

He took ages.......the job.
(A) of (B) over
(C) above (D) beneath [B]

AT, 2022 # arft srfReg=my 3 AR gAY FrdeTe
& g IR vy & geawsll & w9 § A9y o ag

TS F....... FEGHA §I

(A)30d (B)314d

(C)334 (D)29 4 [c]
Toreur &Y 'SR midht aEd AR TRE gl @'
YIRFY e faar mar?

(A) 18 Faw=R, 2022 &t

(B) 15 37T%d, 2022 @t

(C) 9 Raw=r, 2022 &t

(D) 8 saw=RR, 2022 &t [c]
a3t Ieda IAH ... # fag?

(A) g (B) srege

(C) whieTamTaT (D) =& [D]

Trae uiaterar o= awal & @gea uRate g, @ &
(A) T SfR A w_eT (B) ITerE SR gRaron
(C) Iorear siR Ui (D) oA R o [A]
relt A & a1 & Qe a9 31 &= ufeg 82

(A) Ricdtse (B) s/agR
(C) areareT (D) s ARG [D]
ardta A&erie g3 8 da s 5.8

STET u = WeRTiRAeh ch & fereer chl g3

Vv = UehRTiRIe e & wiciiera dhgd

f = WehTreh g & Wilehs get

(A)f=v+u (g) L_L,1

yo

(@Lt_1_1 ) s 1 [D]
f u v v u

Ry & fFa org=d & ded IeauTe JdUT= AUSH

ZR1 uia fardt Ridus wt sgufa. & wfigpfa g

IS @ aaarg? :

A) 377 200 (B) w5 256

C) =3¢ 257 (D) argedz 213 [A]

g Reer affedls REwa & Fa af @

e 82

(A) SrefeR (B) Aars

(C) arars (D) ger [B]

VLOOKUP a1 & aheat &2

(A) 8t A= S arel RelE g &

(B) feret Seret Rene gaetr &

(C) =g ree gadr 8 =4 V' 8

(D) &t #H ! UeheH AT & folg ST § [B]

YRd & uyd 1w i Rk @ (CDS) w=ee

fafts wEa = wutwrea g g @ ganfaa

R mar?

(A) w1 fersgeror

(C) u=T 3gmor

(B) gzHefR =R
(D) arsites 9% [A]

89,

90.

91.

92-

93.

94,

95.

96.

97.

98.

99,

100.

wyH g s Argpfaal & e g fAffa svasy g
T WrEFY & YR UR H@l Ieax TP T TG

HifSe ?
Pioblem Figures / mwiaﬂ?éﬂﬁ
- s ds

@ omo _;oil.':‘ pok ? -

(D (1D (I1D): AIVD

Answer Figures / 3% stgtadal

(A)

©)

ST
o/ \e

Ctrl + Y =7 wai fRan sarar &2

(A) srf=aw fehaT ydad &l & forg

(B) TRTITH Ttz @A & forg

(C) Ueh g1 ht &g &t & forg

(D) sifam forar &t Redfte a1 3¢ &= & forg [D]
A=ifere F @ fFd grardt I (o) F uaifda
o sTar 82

i (D)

[c]

(A) SRS (B) Ffarer

(C) uiRu= (D) sifereg=m [D]
I 9T & UehIR ATHIHS aTaT gt &2

(A) AB (B) O

Qo (D) AB- [B]
saHS 87

(A) FTelT &1 ST (B) e BT JRET

(C) e sl gEaadt (D) S & gHeERe  [B]
g1 v Renea | uff| H ok 5 6 gt @1 a7
ag ardi ok geaw 4 fhelt ae<t 819 78 arff ok
gzanshﬂﬂ'aaiﬁtlagf&mﬁmﬁmzﬁ%?

(A) uig= (B) Scax

(C) =fayor (D) T (D]
Rh &R U ufders g &t fi ..o &
e ox [€ud glaTe?

(A) fermtaTsed (B) 2ad 3fR apur

(C) et &R ot (D) fesmoy [C]
e e & ' wrgaTass’ €3 82

(A) fsar (B) g

(C) gieht (D) femrera [A]

Freafaf@a el § @ e e R 7= e
fear snueee 2aer srard 2022 | Fare TaT?
(A) ToTorR (B) siaie

(C) gamsa (D) TrerTe [D]
Reafaf@a § @ svar g g mea gafaa 82

(A) Rigye - gRaerft

(B) o1 - gRaras

(C) 2meYxT - THEAROTSH

(D) @sT - IS [A]
1 ez & v wfaera 200 faeh 2

(A) 200% (B) 0.2%

(C) 2% (D) 20% [D]
HITET W YF 87

(A) siterd (B) Qerad

(C) & (D) Tesar [D]
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CET 12" Level (2nd Shift) Answer Key Dated : 04.02.2023

101.

102.

103.

104.

105.

106.

107.

108.

100.

110.

111.

A= dereft aafA T & mfelren ureies &2

—

c28888

No. of Students

ferenfiiai & s

102030405030
Marks / urais —

(A) 60 (B) 25

(C) 35 (D) 45 [*]
fore wgg # wdt fawiy e AT 87

(A) fafaR - garar B) it - Hfth

(C) e - amag (D) anife; - wresy [D]
SUBORDINATE & fg=& ariRafres 2rez 8?2

(A) wETaS (B) afkss soft

(C) srefteer (D) fasfta [c]
e § aSeye # uRad= fhaeh g giar 82

(A) 3792 - arrSeqe 3&1s (B) dRdwe

(C) g.ut.ug. (D) #t.dt.g. [D]
150 . St Tz & fd & & F1gt @1 sra=w== FHor
60° @yt 30° &1 ATt & wem & aan & ol i g &
fRroéta Rar & &2

(A) 200 . (B)is0 /3 #l.

(C) 1003+ (D) 2003 . [c]
oy & g afdwe wide d RiftaRew gus
frefAaietsh dear= o ®UTaT i STgE?

(A) S.T.TH. AfEehet et ST

(B) 7H.4A. AfSehe dicte, Siteg?

(C) w97, Afenet afete, TR £
(D) St.3. <= gifdaes, el (A]
afe g B 3 ofief | g yened ) =@
ora |9 g, at By g?

(A) fowmaTg (B) TmentoT :
(C) grsTg (D) sxfgag [DT
fasa =1 TR T2 Ay 7 Fa L. T8 7
e &2

(A) sTRTIH (B) g 1
(C) Ry (D) wriererdt [A]

U 4 : 5 & Ucheh. U4 H il HEaL St o1y
afes ag SruTa 5 : 6 & aXTaR g $Ig?

(A) 4 (B) 1

(0)2 (D)3 [B]
Go throught the following poem and answer
the question given below,

O Rose thou art sick,

The invisible worm,

That flies in the night

In the howling storm:

Has found out thy bed

Of crimson joy:

And his dark secret love

Does thy life destroy.

What does the worm symbolize here?

(A) Death and decay (B) Secret love

(C) Life and beauty (D) Howling storm [A]
grtor AR-fe Resra midezor (F31) &« &t 82
(A) Tt # farsTent-Suerey &R

B) pfd a1 e

112.

113.

114,

115.

116.
117.

118.

119.

120.

121.

122.

123.

124,

(C) IR-zf& & a1 farprm

(D) fRveq eemart & e [c]
e & @ st oferuia=e o T8 87

(A) sm3eaTsT &g GIESIESRIES

(C) wmss =g (D) e =g [A]
Qe IETER0T 8-

(A) Tater sifferar

(B) faenmu= arfaifehar &t

(C) T&-fararum sfafosar &t

(D) s sifaiferar &t [c]
J772641 @1 A &-

(A) 889 (B) 879

(C) 871 (D) 891 [B]
HaTE UATHUSH oh! TUTG=IT fhaeh! sregerar & 1938 &
§37

(A) sered Rig Agan (B) Taz et

(C) @yzds uret (D) STHATETE SsTrSt [A]
Pfeaddsmmama@m=8?

(A) =i (B) A%

(C) gea D) Bsst [B]

Frfaf@a d @ fe=- ﬁ!mam | Hafla sj@er 87

(A) & ™ asft (B) IR uwirer

(C) sffemrearR (D) HETHRA [A]
Fill in the blankwith the correct option.

The teacher taught us that the earth .............
round.

(A) are (B)is

(C) were (D) was [B]
& & ford Feaverd] €. siens Sftaro) g4 87

(A) 919 g1efE (B) U e-TcHR

(C): ww (D) ym Jerfi= [c]
TATYTH & fSha+ el # sty 8 e whim
I RS R ?

(A) 12 (B) 6

_(C)%_\r & (D) 10 [c]
S TR U Sl

(A) Framd it gegmm = ek gt

(B) foret oft Ferd R

(C)ERFITE R

(D) g & SR et Fars W) [c]
Any kind of letter generally ends with:

(A) Heading (B) Salutation

(C) Signature (D) Subscription [c]
mar # Ao g, . U, ord. (VR s

fhen wmRiE) 2022 § R ad &1 yRda fhew

(D) wrg wiiaft [c]
Choose the correct indirect form of the given
sentence from the options given below:

She said ""We were thinking of selling the
house but we have decide not to"’

(A) She said that they think of selling the house
but had decided not to.

(B) She said that they have been thinking of
selling the house but had decided not to.

(C) She said that they had been thinking of
selling the house but had decided not to.

(D) She said that they thought of selling the
house but decided not to. [c]
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125

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

&7

(A) e (B) vreprar

(C) sta (D) arg (B]
Srerd =T, 915y & R T § ure giet 82

(A) Tt (B) 5t

(C) &Tet (D) et (c]
ufeeR MEF .oveee. H TGS BT H O T
FREAGRIOT TF Faeranrer i == gai?

(A) afg=zarer gom (B) acm=rat

(C) Tmwg (D) MR st [B]
Fs* 3fmaa= &h §3==m 872

(A) daerivfia (B) Brepivfim RS

(C) =i Rt (D) ersetherchig [c]

.. U & ot st Y sjmen F srqang A
@rqa;uﬁ;zné g s 39 & @t &R g

IO FRA?

(A) #fAY (Fawam) (B) fyen fawmga

(C) freew fagetwor (gfafde)

(D) wifém [D]
Qeh U= AN TergfE =t | 15 asi F I g st 21
farat et J ag s T 8 srgii?

(A) 75 (B) 30

(C) 45 (D) 60 [c]

Choose the correct option for the passive
construction.

Everyone calls him a peacemaker.

(A) Everyone is called a peacemaker by him.
(B) A peacemaker he is called.

(C) He is called to be everyone's peacemaker.
(D) He is called a peacemaker.

T we Hiforg?

@, @,u 25@,

(A) 24 (B] 19 : s 1B

(€) 20 (D) 22 [A]
Hifers el & a2 o asnfae zafes Re e
A9 &R Hehel 27

(A) I=T =ITaTer a7 FEaE T §

(B) aer I=a =gmarera §

(C) &Faw fSrem =amare |

(D) haet I=rad —ararea J [A]
n & 9 oM & @A (x+a), (x"+a") &1 g qUHETS
ghm?

(A) n & e fawm ot & forg

(B) n & @ff 7t & forg

(C) n & Saer 9T AFT & forg

(D) n & dhae g7 A7F1 & forg [A]
g ez & waTa-wad sy &2

(A) g (B) e

(C) =remunfor (D) TifRTST [D]
f=ifa 4 @ s FRE Aoy H TeEy it
Rruffa w3 & e Iererdt =8 &2

(A) auf &1 g\ fdaror (B) dauw=

(C)wmma gl (D) yraferd v [A]

D]

137.

138.

139.
140.

141.

142,
143.

144.

145.

146.

147.

148.

149.

150.

Fill in the blank with appropriate determiner
from the options given below:
.. Pen will do.

(A) Enough (B) Many
(C) Any (D) Much [c]
uﬁcosf;:%?ﬁ tan 6 =7
(A) (B) Yo' —a®

Jr=a® a
(C) ¥b - (D) __4 [B]

b ihz_a:
R & =AIRET & ST=HEraT ford /= Srar 87
(A) &, da ATgeEt (B) ST. gt SRR AT
(C) . Rrep IR (D) 3. TS orega FaH
[C]
:;m?ﬁmmnaﬂa;ﬁqa?-ﬂwﬁahwﬁaﬁamﬁ
?

(A) arfees sreft wfafa (B) &. durm Rmfa
(C) 3eries Agar afafa (D) St vaafafa [*]
uer ufes F a1 ardi ok @ amaef & aur s rff ok
| "radi g1 o1a & s F g vy aRafdfa s aa @
at e grff ok & g’ gt Siren 81 a«r A9 & T
ardf a1k & a7 ghmr?
(A) 13 &t (B)10di
(C) 114t (D) 124t [D]
frarTe ! el ars fohd 70 @ Sefda 82
(A) = (B) =1ehdt T
(C) dgareil. . ( E;) CISEIRE] [A]
gfaflw ey § S garE 87
(A) a1 (B) e
(C) =gsfife (D) srezrftvma [c]
ToauTd gRT AT @ f@Aue ufeg # fes s
HA-a @R o @2
(A) Te=t Y T SREm T 1/4
(B) Tewl it ghet e ot 1/6
(C) Tewdt &t et Gt & 1/3
(D) e &1 et Ee 1 1/2 [B]
HiToeher ST ehi IETEROT 872
(A) XOR (B) >
8 (D) if [A]
AR B ad & fRraht sgmem @5 srffard @2
(A) 5 (B) 2
()3 (D) 4 [B]
T 14 a9 &1 ekt wam gew av o@ gu net &t 5
Y. i gl & 9w T8 ue uran g1 Remd e R ]
mmaa@@gm%mm#amm
(A) mgRay, Scaa g (B) Fane gfe aty, sigae d@
(C) e gfe iy, Ieaet 2 (D) &R &R &, sraaa a9 [B]
gftee & wwg Sur @erEr g w wwe @A aren
HETaRT 82
(A) BUR R GF 7 g1
(B) @1 a1 Je gHT
(C) ST 7T WR a3t @leAT
(D) 9reR & aTgy R UHRAT [c]
ToTeuT & e et o gaew $fea & et R &2
(A) w1agR (B) steTaR
(C) 3romR (D) =ter [B]
31=AYUT 2UeE ThT Hel SiY-faeds 82
(A) 3FT + ToT (B) 3 + quor
(C) 37 + Qo (D) 8rg + gwor [D]
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